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1-when actions depends upon the values of multiple variables we ll use -----?

1-if 

2-else

3-if----else
4-none

2-when the exact number of iterations is known use the ----loop ?

1-for
2-if

3-while

4-none

3-when the number of iteration depend upon a condition being met use the ------ loop

1-for

2-switch

3-while
4-none

4-the key property of ‘’array ‘’object is -----------?

1-length
2-width

3-single

4-none

5-two of the key ‘’array ‘’methods are reverse ()-sort()

1-true 

2-false

6-javascript array are -------?

1-multiple 

2-herterogenous
3-homogenous

4-none

7------multiple computer that are connected together to share imformation and other resources
1-network

2-internets

3-compnetworks
4-none

8 – comp networks can send an email message to a remote comp using the ---- protocol?

1-HTTP

2-FTP

3-SMTP
4-none

9-comp network can browse documents residing on a remote comp using -------?
1-HTTP
2-FTP

3-SMTP

4-none

10-comp networks can download and upload files to a remote comp using ------?

1-HTTP

2-FTP
3-SMTP

4-none

11- network can run a program on remote comp using the ------------?
1-SMTP

2-TELNET
3-HTTP

4-none

12-components of convertional computer networks are except one ?

1-VPN
2-NIC

3-computers

4-hub

13-NIC stands for ------------?
1-national internet cables

2-national interface cards

3-network interface cards
4-none

14-cables are either------------?

1-electrical 

2-digital

3-optical

4-1 and 2
15- hub component of comp network is ------------?
1-I/O device

2-traffic controller

3-network traffic controller

4-none

16- optical cables are required by wireless networks

1-true

2-false
17------ a deviece used to connect several computer to form a network
1-hub
2-cable

3-NIC

4-none

18- a hub has several -----?

1-NIC

2-cables

3-packet

4-ports
19- ------ smaller unit of data transmitted over a comp network
1-hub

2-port

3-packet
4-none

20- all packets travel----------?
1-dependently

2-independently
3-alternatively

4-none

